Math 3 ~ Unit 1: Functions & Their Invereses Test Review!
yction #1s Find the appropriate solution for the assigned function(s)
f(x) = 3x -8 and g(x) =-2x*+ 65x— 7
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$ection #2: Find the solution(s) to the following system.
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Please itudy your NOTE$ and Quizzes from this
Unit before tomorrow’s test!!



$ection #3 $ketch the solution for each inequality.

9. y>—-x—-2 10. 4x-3y<9 —,33 L'HX*OI
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Section #4: $olve the systems of linear equations through graphing,

,/jqbstitulion, or elimination. Use method indicted if possible.

13. The equations 8x+4y =28 and —9x+9y =36 represents the amount of money collected

from the Stone Creek Movie Theater. If “y” represents the cost of an adult ticket to get into
the movie and “x” represents the cost of a child ticket to get into a movie then what is the
cost of each adult ticket? Use any method! © 8Y+q‘,4 ’2% (hy \C{ 51

METHOD 1: GRAPHING
+4y=-8 3x+2y=6
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METHOD 2: Elimination
4x-5y=17 5x-2y=10
18. g 19. 4
3x+4y=>5 3x+2y=6
(2 ) (2,0)
) )
2y—4x=-6
200 4 —x+y=3
2y—8x=-12 21.
—x+2y=-6
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- Method 3s $ubstitution

—

2 x—y=1 23, —Sm+9n=21
x+2y=17 2m+2n=14
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$ection #5: Evaluate each piece~wise function for its given domain.

2x +1 x=>1 x% -1 x<0
x2+3  x<l 25, F(x)=:2x-1 0O<x<b

re10) atpr (—10)% 3= b3 o
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24. f(x):{

s 3

26. Looking at #24 find: 2f (1) — 3(f (_3) + f (O))
1(37'3( 24 2) = L-3(15) = G-

$ection #6s For each equation state the domain and range (using ,3

interval notation) then find the inverse and state the domain and

range of the inverse. Also, determine if the inverse is a function.

276 f(x)=5x"-7 28¢ f(x)=-5x-11
Domain: Range: Domain:{ —e0, ) Range:(-“dofo)
x=-5y-Y [ 1 x+
f(x) = fi(x) = _XeW =-5y | J =5
'/omain of f*(x): Domain of f(x): (""O! OO)
Range of f(x): Range of f*(x): - (." o()ja:))




29, f(x)=3x*-1 30¢ f(x)=-/x-4
Domain: ("001,00\ Range: ! -\ IOO ) Domain: rf\': oO) Range: ]:D; 00)

x=3y"- 4 T e

} 7
f'l(x)=_§E§' T Fi(x) = X +4

Domain of f*(x): l -\ ,OO| Domain of f( E.O OO)

Range of f*(x C‘ 4) Range of f(x): CL(' °6’)

$ection #7 Absolul:e Value Equations & Functions

31. Sqlve each of the followjng. 32, Graph the following equation. Then
= |x| to f(x).
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33, Determine whether each of the following is a function. Justify your
answer,. Find the i

a. f(x)=+vx-3

b,  fx)=-x’+2x-27

34+ You work forty hours a e. You receive a $720 weekly salary, plus
a 3% commission on sales eder $5000. Assume that yoirsell enough this week to get the
commission. Given thefunctions f (x) = 0.03x and g(x) = x %5000, which of (f o g)(x) and (g o
f )(x) represents r commission? Also, how much will your saiqry be if your sales were
$14,000? How much will your salary be if your sales were $4999?




